Maytag MFS25PDFTS 10 - DRIVE PARTS

DRIVE PARTS
For Model: MFS25PDFTS
(Stainless)

FOR ORDERING INFORMATION REFER TO PARTS PRICE LIST
W10362816 13

Maytag Commercial Maytag MES25PDFTS Washer Parts Parts Diagram 10 - DRIVE PARTS
Click on the part number to view part

Item Original Part Number Replaced By Status Part Description
1 23004081 Motor 240V 3 Phase
2 23004504 V-Belt 25Lb
3 W10286331 Eye Bolt M16x90
4 23004506 V-Pulley-Motor 25Lb
5 23004281 Nut M16
7 23003403 Washer 16BN 737
8 23004023 Washer M10
9 23002658 Washer
10 23003285 Bolt
11 23001415 Pulley, Basket
13 23004146 Washer M37x13x3
14 23003788 Washer M10.5
15 23001418 Bolt
16 23004281 Nut M16
17 23001410 Ring, Tolerance

18 23004507 Motor, Mounting Board


http://www.pwslaundry.com/c-529051-commercial-maytag-mfs25pdfts-washer-parts-for-repair-service
http://www.pwslaundry.com/i-7799508-maytag-23004081-washer-motor-240v-3-phase.html
http://www.pwslaundry.com/i-7799920-maytag-23004504-washer-v-belt-25lb.html
http://www.pwslaundry.com/i-7805294-maytag-w10286331-washer-eye-bolt-m16x90.html
http://www.pwslaundry.com/i-7799922-maytag-23004506-washer-v-pulley-motor-25lb.html
http://www.pwslaundry.com/i-7799701-maytag-23004281-washer-nut-m16.html
http://www.pwslaundry.com/i-7798994-maytag-23003403-washer-washer-16bn-737.html
http://www.pwslaundry.com/i-7799451-maytag-23004023-washer-washer-m10.html
http://www.pwslaundry.com/i-7798528-maytag-23002658-washer-washer.html
http://www.pwslaundry.com/i-7798945-maytag-23003285-washer-bolt.html
http://www.pwslaundry.com/i-7797911-maytag-23001415-washer-pulley-basket.html
http://www.pwslaundry.com/i-7799570-maytag-23004146-washer-washer-m37x13x3.html
http://www.pwslaundry.com/i-7799249-maytag-23003788-washer-washer-m10-5.html
http://www.pwslaundry.com/i-7797913-maytag-23001418-washer-bolt.html
http://www.pwslaundry.com/i-7799701-maytag-23004281-washer-nut-m16.html
http://www.pwslaundry.com/i-7797908-maytag-23001410-washer-ring-tolerance.html
http://www.pwslaundry.com/i-7799923-maytag-23004507-washer-motor-mounting-board.html

19 23004508 Motor Mounting Bracket

21 23001905 Bolt M10x25

23 23001203 Washer

26 23004040 Bolt M16x50

29 23004509 Screw M8x10

NI 23004498 Motor Harness


http://www.pwslaundry.com/i-7799924-maytag-23004508-washer-motor-mounting-bracket.html
http://www.pwslaundry.com/i-7797853-maytag-23001305-washer-bolt-m8x25.html
http://www.pwslaundry.com/i-7798145-maytag-23001905-washer-bolt-m10x25.html
http://www.pwslaundry.com/i-7798038-maytag-23001661-washer-nut-m10.html
http://www.pwslaundry.com/i-7797780-maytag-23001203-washer-washer.html
http://www.pwslaundry.com/i-7797822-maytag-23001264-washer-bolt-m8x20.html
http://www.pwslaundry.com/i-7799468-maytag-23004040-washer-bolt-m16x50.html
http://www.pwslaundry.com/i-7797824-maytag-23001266-washer-nut-m8.html
http://www.pwslaundry.com/i-7799925-maytag-23004509-washer-screw-m8x10.html
http://www.pwslaundry.com/i-7798395-maytag-23002358-washer-washer-m8.html
http://www.pwslaundry.com/i-7799914-maytag-23004498-washer-motor-harness.html

	Maytag MFS25PDFTS 10 - DRIVE PARTS

